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Topic:- Child Development & Pedagogy (CDP)

1) Comorbid means: / SHINS (FEo0ran) BT 4 8:

1. It describes a disorder or condition that may co-occur with another disorder or condition. / Ig Tdh faeR a1 fufa &1 9o Frar 8 S it srg o a1 fRufq &
Y B IHAT |

2. A condition can appear independently and have a detrimental effect on performance. / P U T U I e g avat % MR YT R BIN®RS gHTE STd
&l

3. A cognitive impairment can shorten lifespan. / 3T § ESIERCANEARE] Wm%l

4. None of these. /S?ﬁ@fa'ﬁ'é:ﬁﬁl

Correct Answer :-

« It describes a disorder or condition that may co-occur with another disorder or condition. / Ig Tdh faeR a1 fufa &1 9o SR % S fopedt o fawR a1 fRufa &
Y B IHAT G|

2) What is the second leading cause of death in adolescence? / for=mRTawT & HG BT GRT 9HH DRI AT ?
1. Road traffic accidents / TS JITATd g‘ff?f:l'lﬁ
2. Suicide / STHG T

3. Psychosis / Tl
4. Drug overdose / 7T RS

Correct Answer :-
o Suicide / 3THg Al

./ EE T REaE___®

1. Universal Developed Learning /qﬁaﬁa Iaas afH

2. Universal Dynamic Learning / ?{ﬁ?ﬂfﬁ SIS @

3. Universal Design for Learning / qﬁaﬁa feom= TR AT

4. Universal Disadvantages of Learning / m %WS’GT%GT 3T |

Correct Answer :-

o Universal Design for Learning / uf"ﬁﬁ?l g R qf

3) UDL stands for

4) The meaning of gestaltis _____ ./ ReTee a1 A - ﬁ?ﬂ %I
1. Excitement / 318

2. An integrated whole / Hq;uf WUT

3. Perception / YRUIT

4. Insight / erfa’éfg
Correct Answer :-

« An integrated whole / SqUf U&IHROT

5) According to Piaget’s theory of cognitive development, complex thoughts form during the . | T & AT fAemare Riga & YR,
wifed fam F IR M B

1. Pre-operational stage /EL&—WW SHARIT

2. Concrete Operational stage /ﬂjﬂmm AT
3. Formal Operations stage / 3Nenies dfgrar et
4. Sensory Motor stage /ﬂéfﬁthaw



Correct Answer :-

« Formal Operations stage / 3Nuaies Tfghar srarr

6) According to Kohlberg’s theory, at what level does the child adopt rules? /aﬁﬁ"f FRIgiad SR, 9T frg TR R el &t Werar %?
1. Universal ethical principle orientation / it Afce Rigia B:E@WUT

2. Post-conventional level / TY-URANG TR

3. Pre-conventional level / E@C-mﬁiﬁ TR

4. Conventional level /WW

Correct Answer :-

« Conventional level / TRTIR® TR

7) According to Urie Bronfenbrenner system is the small immediate environment the child lives in. / !{ﬂ IR & SUR, yorelt 9§
BICT 3T arareRv ¢ fored g @t g

1. Macrosystem / ARy
2. Exosystem / Qﬁ@m

3. Microsystem / ATShIRREH
4. Mesosystem / forafren

Correct Answer :-

« Microsystem / Wﬁl@

8) What is used to determine eating disorders? / TR F eRI P FuiRda s & ﬁnz T YT R ar srar %?
1. Weight index / HR gD

2. Weight mass index / HR So0H JThih

3. Body mass index / TRR A A RGEIED

4. Body height index / IR G:\”_tl'lg W

Correct Answer :-

« Body mass index / IR GHHM BEEZED

9) What term best describes a child’s difficulty in learning a new way to do a task he has already learnt? / dg Uqg il waﬁ aﬁqa? a1 i e § o
aTelt HISATE BT TGH 3T I HaT &, 5 ST Uga 4 &) Far gan 22

1. Proactive interference / Tohd GXA&T

2. Retroactive interference / uj—hoq‘i Ty

3. Cue-related interference / Y d-Taiferd W&}q
4. Semantic interference / XecTd EXIAT

Correct Answer :-
« Proactive interference / AfhT gXI&Y

10) What task did Piaget give children to understand their hypothetical-deductive reasoning? / forgms 3 7= ) TP PreUD- FRHATHS a9 FI
Tz & o war & fean

1. Pendulum experiment / a—g';?‘lq BRI
2. Bobo doll experiment / EIEl] ﬂ%’cﬂ BT AN
3. Visual cliff experiment / TG TIGT TN

4. Shadow experiment / ST TR

Correct Answer :-

¢ Pendulum experiment / ﬁg«‘—m IR

11) What does the theory of learning by Insight mean? / Hﬂé@' (F141%C) & AT 9 SIftrH a;ﬁ:lm Ca) GTQEW%?



1. Learning which requires higher order mental processes like thinking, reasoning and intelligence. / S & forg TR, b 3R g@_ﬁﬁﬂ St 3 e aFRG
vfsrane & sagawdr g 81

2. Learning by trial and error where problem solving is characterized by repeated, varied attempts which are continued until success. / YT iR _a'l% GRT SEATH AT
TRt G 1 fafis T gRT IR-AR 86 BT U IRV §, S Foherell deb oIkt gt 81

3. Learning that occurs by observing the demonstrations given by an expert and imitating his movements. / ST S v faxivy mmm?@fﬁ BT T R ITH
HIR PIRA B el B A BIAT 3 |

4. A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of a problem and understanding the situation.

/ U UhR & AT a1 GHEIT B g BT off fobd T & fafiret e & Taiell o) w3k 39 UMY &) grem & A1y ¥ 3o gidi gl

Correct Answer :-

¢ A type of learning or problem solving that happens all-of-a-sudden through perceiving the relationships of various parts of a problem and understanding the situation.

/TS YBR P AT 1 THT Y §d BT oft faaft goren & fafdra fowedl & Taiell o) arem ofik 39 Ul &) 9gm & W1eg § S g gl
12) Name the disorder that causes lack of attention. / 33 fA®HR ST 10 FaT¢ St eaT=T Bt HHit T HROT 11 82
1. Dyslexia / ATHIHR (FSTATRT)
2. Dyscalculia / FEXpegpforn
3. Dysgraphia / fST@nfta
4. ADD/ADHD / USIS] /[TSIT=S!

Correct Answer :-

. ADD/ADHD / USI8! /ASITad!

13) Which model, proposed by Albert Bandura, explains human functioning and personality as caused by the interaction of the behavioral, cognitive and
environmental factors / 3¢8¢ §gRT GRT KT S TT AISH HIER, YTTHP 3R TGIaRUNG FRB| & IR f3FaT & YR W A9 B1Y 3R
FY TS BT B2

1. Self-efficacy / SH-THTIHTRAT

2. Reciprocal determinism / TRER® fAafaarg
3. Trait theory / Hfada Rl

4. Sublimation / 3 $dUIdH

Correct Answer :-

o Reciprocal determinism / IR Fafaare
14) Which of the following promotes the recurrence of a behavior? / [EpIGIEECRE R Ak UH HdgRR il H:R'lqﬁf Ea| derdr ar %?

1. Reinforcement / 117‘@-?17‘[

2. Latency / Yl
3. Chunking / dfT

4. Punishment / <€

Correct Answer :-

« Reinforcement / E[:T@;E’T:T

15) Which of the following theories focuses on processes involved in perceiving and handling information? | Frafafaa Ao ﬁ'&'ﬁm P YT
3R IUR 3HT UTd B § Wit wisparaii R Higa @2

1. Information-processing approach / W—WUT SUrH
2. Social-contextual approach / TSI SURTH

3. Socio-cognitive approach / 1TSS TS SURTH

4. Psycho-sexual approach / TG U

Correct Answer :-
 Information-processing approach / W—W SUH

16) Which of the following is one of the components of ideal mental health according to Jahoda? / fafafead I« = EIHMED AR 3R AARE
WA & 9ed! A § TH 72

1. Dependence / i



2. Separation from society / JHIS ST Gl
3. Freedom / ¥daAdl
4. Positive attitude towards oneself / T & Ui GHRIAD B0

Correct Answer :-
« Positive attitude towards oneself / T8 & U YHRIAD PHIT

17) Which of the following statements best describes the Zone of Proximal Development? /FrafafEa & 4 F9 9 ey i e & A FT I
ST U FRaT 82

1. The difference between what a learner can do without help and what she or he can achieve with guidance. / T fimnd’ﬁ%m qerIdr T B W/W % 3R
TTERH & HIY-TTY I8 1 g1 HR G dl/Ahdl 8, TUP I Bl 3R |

2. Academic, Knowledge based tests gauge the intelligence. / SHPICiHeD, 1 TR Teon m PITAIAA S |
3. The child develops the required skills on his/her own. / Sl 3T T TR IR B [GebRid Hal %I

4. Discover everything on own. / 99 $& W FECIEEsEl!

Correct Answer :-

« The difference between what a learner can do without help and what she or he can achieve with guidance. / U ﬁT&ﬂﬂﬂ%‘ﬂ Heradrl & T PR W/Flib_cﬁ % 3R
TnfeRi[ & TY-A1Y a8 1 FIRIA IR Fhdl/Ahal 8, 3Ub A BT IR

18) Which of the Thorndike’s laws emphasize preparedness? / UF[S'IWW PI4-91 Faw darfeal iR SR & %’.’
1. Law of Exercise / 3% &1 fd

2. Law of Effect / UHTd &1 faH

3. Law of Multiple Response / a@’qﬁﬁmﬁﬁuﬂ

4. Law of Readiness / TRl &I fHaH

Correct Answer :-

« Law of Readiness / TORdl &1 -aH

19) In scientific investigative learning method, ./ ailTEﬁ? Gﬁﬂ YIS AR Ui ﬁ:, .
1. children discover the scientific idea completely. / &= %Y I TR T T8 J Ul Tod 71

2. children work without guidance. / T I"TTEQT:{ & o em Ha %I

3. teacher guides the children completely. / e St &1 T TrfeR R g1

4. teacher gives inputs when needed. / fT&f@ SR q@ﬁ W gIYc AR

Correct Answer :-
« teacher gives inputs when needed. / e S q@ﬁ W gYC AR

20) A child is watched carefully by his teachers because his friends are known to cause trouble, even though the child has never done anything wrong. Which

of the following is descriptive ofthis?/wﬁﬁw%maﬁmmﬁmm%mmaﬁﬁmmmmm% yafia=x
A $t $o TTera A1 [ 811 Frafafea & @ 919 91 59T quiFTEs 82

1. Algorithm / TEIRYH

2. Transductive reasoning / GIRITHT GEZ

3. Representativeness heuristic / 3gae %W @Eﬂ-@aﬁ)
4. Anchoring heuristic / FHGIT m (Hﬂuﬁﬁ)

Correct Answer :-

« Representativeness heuristic / G{Wﬁﬁw (Wlﬂ'l-fﬁifﬁ)
21) Who are backward children? /ﬁ@%’/ dfra aﬁﬁ?%’
1. Slow learners / HG e df

2. Delinquent learners / faereror ifermreaf

3. Handicapped learners / feagf aiftrmaeat

4. Exceptional learners / 3TURUT @Iﬁl"'l'l:ﬁ?_cﬁ



Correct Answer :-

« Slow learners / Hg 3R df

22) The last stage of creative thinking is : / TIHD a1 @1 sifam iR'UT%:
1. Incubation / SHEHT

2. Verification / YT

3. Preparation / GRIril

4. Evaluation / Hcdih

Correct Answer :-

o Verification / YT

23) The Dalton Plan was created by: / STee-l YIS §RT m TI'&; of:
1. John Dewey / iG] §_§F

2. Francis Galton / Wi flee

3. Francis Dalton / TR STee

4. Helen Parkhurst / %ﬁqm
Correct Answer :-

« Helen Parkhurst / %ﬁqmﬁ

24) A student should be allowed to learn in the mother tongue as it makes easy. / b BT Ea| HATFHTIT ¥ e ot \?rlﬂ'qﬁf S im%‘! e a8
Y ST TA1 31

1. Comprehension / xqY
2. Perception /Faed
3. Creation / ST A1 Y

4. Reproduction / UST—

Correct Answer :-
o Comprehension / xqY

25) More Knowledgeable Others and Zone of Proximal Development are the main principles of theories on cognitive development. / 3t

SR R TR fier & & ayrTee e w® st & g1 Risia 71
1. Kolb’s / Bied

2. Piaget’s / ot

3. Dewey’s / 34

4. Vygotsky’s / CIRUIRSA
Correct Answer :-

o Vygotsky’s / GIERIRSH]

26) A large number of schools do not have a provision for _______teacher in the school. / mmﬁﬁ_ﬁrwmmm ?ﬁ%l
1. Extra / SffaRad

2. Special /Tafdre

3. Co- class / Tg-TR1&fl

4. Assistant / gD

Correct Answer :-

« Special /ﬁﬁ]’g

27) are the basic needs according to Malow’s Hierarchy of needs. / T & WRUT & USTshY $t ATaRIHdl &
SR gHaTdY o g
1. Safety and Esteem / gR&f 3R S{HA



2. Physiological and self-actualization / X IRF 3R sy
3. Belongingness and love needs 1 FaTT SR WR & Sazgedl

4. Physiological and safety needs / I Gﬁ?ﬁT&ﬂaﬁ STIRY Dl

Correct Answer :-

« Physiological and safety needs / JRIR® Gﬁ?ﬁT&ﬂaﬁ STaRY Dl

28) Which of the following can a teacher not exercise to overcome misconceptions? / T& fR1&/® Terd sraurunas $i « FHFRATHES
frHeT agR 81 X aPHar?

1. Immediate feedback assessment approach / deh el ufafear J-LL('iIid)"i %’f@ﬁm

2. Self-directed learning / e & H Tikeem

3. Quiz style assessment both before and after a unit / Tdh ng I tl_Ega 3R CI o gy} At 1 W
4. Flipped classroom approach / oy e EfP@Ion

Correct Answer :-

« Self-directed learning / 3{TcH TR H e

29) Which of the following theories is also known as modelling learning theory? / fafaf@ad a mﬁlﬁiﬁﬁm(m) 3
Rigia & wu A oft ST o @2

1. Developmental theory / TS (STaudea) Sifamd Rigia
2. Social learning theory / g siftnma fRigia

3. Transformative learning theory / mﬁ Wﬁl@lﬂ
4. Insight learning theory / ey (&TuTEe) SffeH Rigid

Correct Answer :-

« Social learning theory / QTS 31faTH Rigia

30) Thinking most importantly involves: / fo=- & Wa We@yul 9k & Fu1 AR gar € 2
1. Aptitude / ST
2. Memory /@ﬂ%

3. Reasoning / GE3

4. Attitude / SR

Correct Answer :-

« Reasoning / GEZ

Topic:- General Hindi (L1GH)

1) &5 W T Faa Te TR T Sl {1 S THwn F1 g 1 A faar wirar @ St wgayut g ok R uR uran o 9% | R auwn # Sl 94 & saar gu
FU T & SN T TN $Ed §1 TP IR 9 & et gl wR for e X A9 § o 5 ved § et ifie o) gga €1 el 991 gt grifoat il §: enur
TR B P AT, TR B g, Apad T SIS Aolgd ST S(ERT (e SN B ST S(eAT YA G! BT JAT ST Usal g1 3l Ry &1 ue =irs fewan
a1 1 g F T HIA A Ao Bt g fIagpa a1 31 39 30 F U g @ o fora @R @ Uo dieaile TReR 98Td RS A BT MUR
amﬁmaﬁlﬁwmﬁﬁa?hﬂmhwmmaﬁmm@mﬁm%ﬁuﬂm%gmmaﬁvwm Bt RITYT FR=1 1At | Aarer
TAPT 33T ISTERYI §) Tahel 7 1 3} BT o Auret & IreTei= 3T BT AUT1 3G ATt A v ¢ 1 Afh=1 AN 1 3M7eell 3R B F F aHB! b ggem d auf @
W §1 AR Aure vl s F R SMUR 3R B9 B A A qH @RI

HTETaR T A § fawar &1 gl g1l 81 59T Aaad @ 1% 5 3 & 52 89 A diepdiie WeR & qayd Rigidl S a6 $47 3R 306 YU S JaTS
% g T 3R AN B o G A US| RITHIG WG Fehral B Sifiep 2o WG B1, T & &Y 3H1S B Wudlg $ WHIG § a1, digeneii 3R sreuser®! o
TRAYRT | SiteI, 31fe faarR &t gt & 311 §1 391 U8 Haad i 2 {5 o0 A 30 bhad 0 &) ot diedize ufhar § 1 Rl o1 9& | URd o smfyet o
SfIpaR 0 TS 2 AT BT WHAT X 7@ & 1 YR & 3l off et & 7% U o vl § Rt oifaes fd 76t freg urg 81 oot off [oiwR & 90 Usg uRd
Pt THYRT A T RE IS 781 A &1 T W9 Abad & IR Bt gt & ISTe01 & | pad B TGRS b Holgd B B gl BT AIHAT 8 Abad &I ST gl
21 SUST Hawd ¢ Wihaa BT Ulibaraii 3R TR Bl Hoigd STl

UGS T B UEHR A2 TS T YA BT S&R TS
TY : BAIAD AT IR & G B 7T ?

1. HIA QBT Bl G B B TR qH UG

2. S et

3. I it TWHR P Teryd Rigid b1 ALl
4. HIA WHR & THIG HI TS & &R a7 adb UgamT



Correct Answer :-

« Sugad qHt

2) $13 ot T Fad e wuwr T8 gt ¥ 1 S TURAT B g BT A fur e @ St Heeyul 8t S O R U 5 e | R TuRan § S 9 & ek g
U A & I g A Hed &1 TP IR o1 g9 foradl g wR farera ured o7 A € ol 39 vgd A FEl Sife o) 9ed €1 diwd Bt g gHifadl i #: sy
TR F3 B A, R 3 AR, A Bt SIS Aogd BT ST ST SN BT ST SERT gHfaal BT ATHAT BT g 21 it fay &1 v drurs e
W & AFaT 31 AT & TH B | A Bt g [Sapa 16 31 57 33 & U A 3 7 50 e @ o Aedilie |RER 9610 RS AP BT AMUR
TR fraT SR | BT B F A SreAlpaiie TRHR B SWIST RN, VT B TRHR F 01 | gR 3@ § SR TP T AP Bt R0 Bt 11 Aot
BT DT ITER &) FavelT €1 3 ft BT T AUTer § ITeTcid ST BT UT| 3 AUTe § Aievaa 81 AfpT A B} angal 3R & F3 & adie) &) agaa § a6l a7
wra &1 gaferd Aure snft diwda & R sTyR FaR B $Y TR J TR

TTTaR R e ® AR &t gt gl 81 3971 vaad ? [ il 39 & &% & ¥ dieailie WeR & gayd Risidl &1 aRL $31 R 3UF YU B Jae
F g @il 3R A FT 7 TRIT q UgAT | R TRt Al 31 sif¥re wifd weH 33, m%ﬂmﬁm%umﬁm afganaii 3R sreuieTs! &Y
TRYRT | e, 3fe fIar &t gt & I §1 391 98 Taad ot 2 {5 o0 F o1 thad U9 8 ot dibdite uihar § 1 Rl o1 9& | YRd o smfvst o
SfpeaR =T AT T AT BT WHAT X T@ & | YR & 31l off et & #% U o ol § et oo fd 76t freg uig 81 omet oft qaiwR & oo wsg uRd
P TRIURT A T a7E IS T8 U B 1 A 99 Ada & IR o ged F 3101 § | Ad B TeR1E 9b ToIgd I PG BT AT R Apo B HAT gl
21 39T HaWd @ didad 31 ufparel iR TR B wergd A1

SUYTH T B TgHR A IR T U $T SR TS
7Y : SUTGTAR AT dibea § feaat A gl 82
1. TaTe &t

2. R &t

3, AR &1

4. AR 1

Correct Answer :-

. foarR !

3) IS ot T Paa TP quRaT 81 gt 81 I wHwn S gHi 1 A 3 oirar € s Aewyul 81 ok R UR T o 9% | R/ aue § ol 9eA & J@wR g
EUEIA & 99 eF T Bed €1 Uo IR od g fpelt g W Frora wr % o € Y o Ued @ e aifiie ) wea €1 dbda @1 geoT gRtfaat Frafif@d 8 enur
VIR B B A, AR 3 AR, Spa Bt SIS Aorge ST AT AT SN BT T SR FHlfaral BT ATHAT BT Ugar 21 3nf i3y &1 uep =rurs e
WP A AP ¥1 AT F T HIT A Acber Bt g [Tagpa a1 1 39 3 F IR g @ o fop v & Uo diedite TRER 98T BRP Abed BT 3MUR
TR fFaT 9| T B F I B i WROR S ITIST 1T, W1 B PR F HUA01 A gR AT N1 3R Th WA Y Bt RITAT He-1 gRit1 Aure
DT 3BT SGTERVT §F Wahal & | 3¢t ST T uTel & IUoTeia g3 HaT AT 3(F AUTd § Abad g1 Afb AN B 3Teell 3R HTH B b aiP| B! ggad #§ aul e
W ¥ 1 i Aura enft e ¥ R SMUR AR B Bt A A A W7

TTETR T dieds § AR #51 g gt 81 391 waed § 5 50 39 & & g7 § diedite WeR & qeyd Risial & ar $31 iR SUF YuTT F GHre
P BT I SR AR B g URIT b UgaHT | R Wt el &1 it ft wear @31, T & 2 5618 &1 Yudlg & YT | a1, Afgarsif o sreuasrs! &t
TRIURT | SIS, 3T fIRaR 3 gt & I § | 301 U8 Haad 1t § 5 70 I 71 had T & it dieaite airar S W R o 9% | yRa 3R sifve
SfRrepaR A 3o 3 A BT AT HR TR &1 HRa F 3l off warer A o5 09 s ol § e Ieifae i 76t fora ois @1 oot oft yaier & oo 3sg uRd
F THIYRT I T @RE IS 61 U ¥ 1 A W9 diwdd & R 3t gHid S Ig6R01 & | A Bl TeRTS a0 HOgd B 31 GHTdt BT AT §R AIHea B HRAT ugal
B 5P Haad @ aiedd 31 Uiparsif o WA $ Weigd BT

IR T BT UGHR 1A UD Y YR $T IR ga1gu|
U : Wb B G-I gHIfaar o1 82

1. a9 TR S 3

2. A YR TR IR P

3. Had AHaA B S Holgd B B

4. Iudad Tt

Correct Answer :-

. Sugad wft

4) B M g Faa T TEwT e gt 1 W THRAT BT A BT A far wrer @ o aeeayui 8 3R R uR uran o w0 | R mwn ® 3 9 & SawR g
EU B & 59 g9 gHId) $gd 81 Ue aR o1e 89 {5l gt 1R faor ura o7 a4 € |t g9 Ued A $Et 3ifire 3m agd ¥ | didda 3 g8 gHifaal rafeied 8 SR
VIR TR B A, AR 3 AR, Sba Bt SIS Aorgd ST T AT SN BT ST TR gHfaral BT ATHAT BT Ugar 21 3nf i3y o1 g drarg e
WAwda A FaT F1 AT F T HIT A Ao Bt F [Fagpa a1 21 39 30 F IR g @ o for v & U diwdite TRER 98T BRS dbes BT SMUR
AR a1 9 | T 3 F T SABAINE WHR B WIS SR, A1 F| THR P U0 F g T E1T 3R TP WA Y P RITAT HT it | Aurer
DT 3BT SGTEVT §F Wehal ¢ | 31t BT aop AuTet & IToTeia g3 BT ATI 3(F AUTd § Tpad 81 Afe= ANl &Y Sreell 3R S & TP P! gga | a6 &
o ¥ 1 59fr Aurar anft eda & R amuR FaR FA A TR A S @RI

HTER T didpda § faear &) g gl 81 591 Aaad @ 1% 5 3 & 52 89 A diepdiite WeR & qayd Rigidl 1 aR] $T 3R 39 T4TE S JATS
F g aif R A F} 7R TR aF Ugar | R TR FAeal #) sifres Afa ve 3, WY S @R SH1S B Wudig & WHE § arn, afgansi ok sreriers at
TOIYRT A Sie1, 3fe IR Bt gt F S0 &1 30HT I8 Haad i @ i o0 A o0 bad 1 & ot dieaite uihar & 1 R o 9% | R4 37 sifier s
SfFaR A 3o 3 A BT ARAT HR TR &1 URa F 3l off warer d oS 09 s ol € oA oifae i =16t fira uis @1 oot oft yaior & oo Wsg URa
F TIYRT I T @vE IS 781 U ¥ 1 A W9 diwds F IR 3t gHid F IgeR0 8| AT Bl TeRTS a6 HOGH B 1 g BT WHAT §R B B HRAT Ugal
B SHS] Uaad @ aiedd 31 Uiparsif o WA 1 Weigd BT

ST T B TEHR A T T WA BT IwR TS
wY : YR § 3nft o 7o o aoif &t 71 78 fire wrar/arg @ 2



1. o Qe
2. TH AP T
3. 3nffes Tare
4. TS TR

Correct Answer :-

N EEIRERICH)

5) B3 W T Fad TH THET TE1 gt ¥ 1 S TEAT B gt BT AT T o § S Hewayul 8 SR o R U S ek | R Tean § o 9g & 3awR g
FU T & SN T T $Ed §1 TP IR 19 & et gl wR for v X A9 § o 59 Ued § et ifie o) gga €1 el 91 gt grfoat il §: emur
TR B P AT, FIRAR B g, Apad BT SIS Aolgd ST S(ERT (T SN BT ST S(eRT YA E! BT JAT ST Usal g1 3l fay &1 ue =rs fean
Awd A P 1 AT F T HIA A Ao Bt g [Iagpa a1 31 39 30 F U g @ o fora v @ vo dieaile TRER 98T SRS A BT MUR
TR a1 9 | ¥ 3 F T AP AIRNE IRPR B WIS SR, A1 F] THR F 07 A gR A1 EH 3R TP W1 Y PTG HIAT gRi | Aurer
BT 3BT IGTERVT §F Wohdl ¢ 1 3t BT aep urel & IToTdi= g3 HaT ATl 3(F AuTd § Awad &1 AfsT dlll &Y Sireel 3R S & aP! BT gga o auf @
W §1 R Aura vl s F R YR FIR B39 B T A qH @RI

TG WA Aieba # R a1t gkt gt 81 ST Ao ¢ 5 fhelt 31 & ov & A dieail® WeR & qayd Risidl &1 ar] S R IqS THE o1 GAS
% g T 3R AN B o G q US| RITHIG W FHehral B Sifies Wfedd War B1, WY & &Y 3H1S B Wudlg UG § AT, digarsii 3R sreuser®! o
TRIYRT | SieT, 31fe faar &t gt & 3101 §1 391 U8 Haad i 2 {5 o0 ¥ 30 bhad W &) St diepdize ufprar § 1 Rl o1 9% | YRd iR smfysT o
SfpaR 7 TS X FoTe BT WHAT X 7@ & 1 YR & 3l off et & 3% U o ol § et wo-ifaes ufd 76t frg uig 81 oot off [oiwR & 90 Usg uRd
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St Tt g R ST Y Y frafdrarar @

SR ATUTE & Ugd faaw & vy 7 4T &

T8 TR 3firep 3rra 8, Piferd A H

T ITD! & BT &ATI

ITT U H) UgH 1 U 9H aTd U= BT Ik Ia1g¢l
URH: 3TUTE HEIH &7 WY {5 g | ghar 82
1. RIRR

2.TRq

3. 864

4. quf
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18) a1 &1 WK 9ul &1 TS, Fel &1 R usn
T TR T AR ¥ RR & 9 bR g
IASH T T VR F B T AR oA
ol Bt a¥g faerett 71 fazmant & wer I

3 aui & AT T4 o) yior & Wi



S I P} ARG BT § G T FORR
i YT TEHR, URel TR o Bl e &
St ot aed TR o 1 o Rrafierar @
3R 3TYIE & Ugd ea9 & TuH 39 &ur §
T8 FAR AP e B, PG F 7 A
YD & 6T &1

IUYF TR B Uga] R T 99 91 U BT Sk 9argvl
T=A: IRY sl & fasreh 4 guwdt 82
1. IAId BT G|

2. U BT RE |

3. UPTd &I B B a<G |

4. Y GG TR B |
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« O ey eTeRTe &1

19) &1 FT R quf &1 F1ST, ST b1 AR g

Tl TR $T TR gR R & U fbs ugn

IATL At BT Qe BT B 9P TG ST

T Bt X faerent ®1 fGmmai § wew Io

3 quf & Y T2 R yior @ Wi

WY IMaF I TR ATHAT § TG T FORR

S Y@ TEHY, G TR o ) e @
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W: 3R FHA W TN 7 g1 &l Ha S1ST $A B gelm 82
1. foam

2. |WBHR

3. AN
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2. THER SR B |
3. oY 918K US|
4. N RRF SR TR B
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2. ARG S gl g

3. %HA 9P I
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« BIEN BT Hid Hagaq 4

22) §91®T W aui @1 FiY, el &1 R ug=
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3 quf & Y exa o) wior d Wik
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1. o1 g TR ast

2. Y e
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4. 91 & ST aTe gfear
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23) B91 T WR aui &1 ST, TSl &1 R vg=1
HE TR BT SR ge R & 4 6w e
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el B ave faerett o1 faxmal # wee So1

T gl & A T R wior & wWR
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ST TEiY B Tga] R TS o9 91 IR BT Sk 9arggl
U=: $a A e F) o 9rae ueh d 7 91 82

1. T forar iR =1 s o 7

2. Fif <1 o1 anf I Feiy B

3. i b uehde 8 81

4. TSP fpam SR T gHI STeal B 3R 3¥d WA B
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. Fife fEgM 3R A1 gHR STedl B 3R @A I8d &

24) 91T WR aui @1 Y, ISl &1 R g1
P TR BT WD ¥ RR F o {62 ug=n
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3 auf & oA T o) wior & W

S I F} R ATHT § TG T FORR
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1. AR M 1

2. fRgT T B

3. S-S He-d T 8|
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T: 39 Piaar A $13 A gaw f5d war ¥
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2.
3. fRE &Y
4. fipo B!

Correct Answer :-
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26) 741 $1WR auf 3 T}, ISt *1 AR v
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28) §41 &1 WR aui &1 FSY, el &1 R g
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2. TP IR d®
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« T B BT dB
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q auf & oI T forae yror & Wi
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T8 gaR 3ifU e B, FIfeIG & A A
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2. UgTS

3. 3A
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Topic:- General Sanskrit(L2GS)
Y facarg st9taTe &: ?
IEATAGAT
1. ~
EATdCAT
2. ~
r S~
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TR=de Ifocar UeTEd ﬂiﬁdgrdi A -
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3.

4.
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faar
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24)

U=ae gfacar Teaed ?_Lsgdgrdi T -

aRadd FaREEe Fa: | gHaegAEdREHUSe AUSH §d UG
HEAT T SRIRATAAIAsEAlTTgH], 3T | FAsIeiaaameaey
fAgAEg 9aEr F | 3 gRATAAIAET e vHEisiEAd Sfiad
Tehd | FelIcqd herfaed g:TH, T IR Tehreilstl=AT o T
IUdR:, T qfSe:, A Fur, seret g¥: el T heaeredfaRid
Sheel  eMREAAURETeNIYRT  add| &ed, dladd, Ulecd, Fgca  dfd
Shaeraiadereda fafqenfa wumior afed | gug:-war: aRgfca=tafadr |
3T wifacafa & w10, Idr & fhaed| facaen AT Bl qug:W
gqIfacy sad: | Hﬁmaﬁsﬁmﬂﬂaﬁ,ﬂﬂﬁmaﬁsﬁr
q:TH | Faldd JEANIArd Fardd feaded T Faldg g:QH 3adid
T fAegd 9 | A vdle Hiaperrs:  HIfdeRT-  hEAcTed
JUHUAD GEAPedd] dT | Adeac gl T gar gohafAsaor || afe
G 9 A AT, PEddoolel: @I ¥Tdd ? GUEAcAT
qEEIASTY: TOREA #9fd | FIANATHFT AChBROT Ygehol- ‘W &
AUTT Mo | TelletIhRisad e |

HETUGTATAT: Uhlel: el EdT: 3eelhi:

Sliaer Teaa-



, ST

IGEEURIE
4.
Correct Answer :-

. AT

eollenl afScar TeNfAfEsee Teaed PeFccl I -

Uh U FegdAl [ALaseeIanid I: |
RUT H AT AIAATG ITSTd |l

Hellold Aecdedddl  Todicad gigadm aises |
didlcAs] dRYAACT ARTHAGT WOT Jued ||

HAHATA Udel dg ATl Hafd-

| o

QR



uf=ae ufScar Ueasy ﬂﬁd::l,rdi A -

LY

dlich gaored o IS Fgrar: | foswr Q@ gdel-ardeh:’ | 3 RN,
HoH: 3TcH=l: dT gooldl 3Xer T 3fed | AIRPESTAT gl HEafoeraT:
cgoifed | gigesedn giel Sfel Tsear JcArr: 3 gRgdfed | o T o @
AT | Holl-hIRIIE-TSCAT Goel Sl WAlehl: SURT-TSCAT Yedfedd | gaol
THATS UoeT TASIET AThAUT siafad | Adel G2 Aaed ¢aed o
3MhACT Pdfed | Td U Slidel JTR: T qeoed o Hisf safd Feo
dich | IREAA U AFATTTAT FOOAAT TRATeTd, TT Fed: JAAHATT
Urelel fordd, TFcAT: STl Gdell: dRT: O Hdled del &2l 98 3Hed 22
T FEged | smeafoAsesea %éloi Hoj_,w' SPIH-PIeT-IN8T-HIG-3TEhN-
faohmr: aMepfed| Tl fARN: SR HJsOEd HAH AT T

AfFd: &Id | cAAH 3T § Ud a87d T: Udel: T | 3ad fe-
ATTATHT Tolgladed oId:|’” 31d: eNehl , AT, MeAdTfcHNT I fedd
qaId|

iy s veEd faser: sEfea-



Yoliehl UfScar JelfAfisesy ety Yge el Yaad -

3TN REETRTr avear afi¥dsT T |
AFAGFATdPNLE IETdseiId Hel: |l

O T he

HEQ fdeh oellcthele q&T:Ee aw*h——gra#

LY b * LY hd Y
AT ATHAIFThPIT I L HFHUA_ |
qas9l gdeeel I HholdedhUs I agcrdlqiﬁ

Mue afi@affedr faerad sarergsmfor: |

TaAl{Fdehd 319 Taid-

28) N
T8 dh e TAHBAT T ?

| ATOTsTgaTIUTeR T
, AT HSIHUT
| Fagsremeranan
, STBUSYT&TehalT

Correct Answer :-

. AT aTIUTR AT

) HRAR 3UCUET FchATHSON Te AT

aid: 38T 3 3EId-

, Sleded &



4.

Correct Answer :-

30)

Ui=ae gfecar g2aed ?‘:I‘&Qdirdi T -

olich ey o HIsTT Werihr: | fhsa Gal geo-are: | 3 RN,
HAH: 3cH=T: a7 goeldl 3T T R | ARIRFTSCAT gofel FFfoereT:
Telfed | IETSCAT goIel Sl T™am AN 3T IRgdfed | TR T
AT | FeA-DIMCAC-TSCAT Goel STl eliehl: IUET-TSCAT TRAfe | goled
FATS YTl AT 3MhAU #afd | Al ¢ daeied ¢ |eT:
3MHAYT Fdfod | Td I Siigel IRIRT: A Goorkd o Hisf sfafd Fee
dish | IREAA QA AMFATIEAT FSOAIT IRATeTd, TT Fel: JAMTATT
OTelsl Tohad, TFcAT: SFel: TEell: aRT: T $dled o oel 98 38 oL
AT FHATed | ITEATCHBESCI c\oéld d-loj,'Nj PIH-ShIET-NeT-HIg-3Teh R -
fahRT: 3Meheed| T: TdPN: 3Mhleded Hsaed AT RN o
AfFd: &M d | 3cAAA 31T F U9 oeid I USel: T | 39d fe-
ARTHATCHT Solglded ofed:|’ 37d: 2RI , HAGIEL, 3medifcadr I ofad
JIaId|

qed 3d verd aaETisuefAcAted-

PZEE:)

1. =

gFdeefl

2.

T s

3. 2

MA:
4. 2

Correct Answer :-

Topic:- Social Science (SSC)

1) Which among the following is the driest desert on Earth? / Fafi@aa & @ #19 W gt R Ta 375 Y0 82
1. Kalahari / BTTGRY
2. Tabernas Desert / TR Y=



3. Atacama / S{CIhTHT
4. Gobi / st

Correct Answer :-

o Atacama / S{CTDTHI

Match the inscriptions with rulers

1. Mandasor Pillar inscription | A. Chandra Gupta
2. Meharauli Pillar inscription | B. Skanda Gupta
3. Bhitari Pillar Inscription C. Pravar Sena II
4. Chamak Copper plate D. Kumargupta I

| emEel & Gy e &1 Eae a1

1. ASHR e Rraree | AL =g aed

2. AN T e | B, W I

3. faradr ¥aw R | C. uax Jar I
4, IHAF FIR e D. AR JUH

1. 1-A, 2-B, 3-C, 4-D

2.1-D, 2-A, 3-B, 4-C

3.1-D, 2-B, 3-A, 4-C

4.1-D, 2-C, 3-B, 4-A

Correct Answer :-

« 1-D, 2-A, 3-B, 4-C

3) FIIs stands for ./ UHIMSAE ST ®___ @I
1. Foreign Institutional Investors / tﬁﬁq m@ﬁﬁ m
2. Foreign Income Investments / q”‘ﬁ_'f Wm

3. Foreign Investors Income / BT ﬁeﬁsﬂm

4. Foreign Investment Index /th—ﬁq 3@@?3@@

Correct Answer :-

« Foreign Institutional Investors | BRA G (RGN EreRst

4) The most appropriate criterion that determines the selection of a teaching method is: / I JUYH AFES Nt T gt gt & 999 e war
]

1. The nature of the subject matter / ﬁm-aﬁ Gl E@—ﬁl
2. The classroom environment / P E&T T dTATdRO]

3. The availability of resources / AT BT FUARIT
4. The incompetence of the teacher / 185 Bt SfeTa

Correct Answer :-

« The nature of the subject matter / ﬁmm@ Pt El?ﬁ

5) The vesara style in the building of structural temples was developed by: | T HieRY & famfor & 3R el g gy fas R
EaRIEKI

1. Pallavas / Uedld
2. Chalukyas / 9T

3. Guptas / T«
4. Mauryas / o

Correct Answer :-



« Chalukyas / D]

6) Development is a and nonstop process at all periods and stages of human life. / fara Ara sitaw & 9ot gwg SR @Ru
ERcsd IR ATReTY Ufhan 31

1. uniform / UHJHTT

2. important / IIB@EUT

3. general / ITHN

4, continuous / Idd

Correct Answer :-
« continuous / Idd

7) Students are split into small groups for a specific period of time and are made to discuss a given issue or topic. This method is known as: / Bl
P! $o falky 9wy 3afl & fore o1 Tuel # fawifoma fear wimar 8 ok fed M e, o1 fawy wR faR-fawst s sran @1 7

LEAT] Hgardl gl

1. Brainstorming / W (a:lRTﬁTD

2. Buzz session / Joi T (ol @'QFD

3. Symposium / L IREE|]
4. Debate / ATe-fdarg

Correct Answer :-

« Buzz session / o 9 (a9 @'SZFD

8) Panini was the author of / UTIOI f71 & @ Q
1. Ashtadhyayi / STSTETAT
2. Mahabhasya / HgIHI™]

3. Daskumara Charita / GRIPHR Iia
4. Mrichhkatika / Je8®{cHH

Correct Answer :-

« Ashtadhyayi / 3TSTEHTY

9) In projective techniques of personality assessment, behaviour is evaluated. / SfeRTcd MHe B1 Fad} dd-d! o AqgR BT
qeaie- fear Srar 81

1. criminal / 3Reft
2. conscious /ﬂ%ﬁ
3. overt / Uh<C

4. covert / UhC

Correct Answer :-

o covert / 3[Uhc

10) When was Sikkim created as a full-fledged state of Union of India? / fifern ot yRATIu & Tﬁ Mg DT ﬁfﬁ ﬁ'qT T 41?
1. 1985

2. 1975

3. 1970

4. 1980

Correct Answer :-

« 1975



11) At which point of discussion, does social science differ from pure science? / = & 5 ﬁg R, TS ﬁ?l'ﬁ ﬁ'{[@ ﬁTI'F{ I '&ﬁ?ﬂ %
1. Degree of complexity / EIGEIEIREI]

2. Repetition and duplication / H'_‘N@ﬁ‘f 3R m

3. Validity and reliability / 3&dT 3R faag-aar

4. Exactness of measures for prediction / WW % forg Juri/mal &t qﬁﬂ@?ﬂ

Correct Answer :-

« Exactness of measures for prediction /W?FT & o IuTdi/ATal H1 U I
12) Aryabhatta and Varahamihira belonged to which age? / GIT&W-IE' 3R mﬁlﬁ? fea qa J Iefa A2
1. Kusana / Y01

2. Harsha / Bﬁ

3. Gupta / &
4. Maurya / af

Correct Answer :-

« Gupta /[t

13) Who among the tomar rulers established the fortified city of Lal Kot (Delhi) in 8th century? / Siﬁm T ford d1R @ A 919 P
() & fperde Tee ot RITATHT A2

1. Anangpal / 3O

2. Lakhan Pal / /9= UT<t
3. Tejpal / GELIG]

4. Madan Pal / Ha- YTl

Correct Answer :-

« Anangpal / 3{=T0Te

14) Who was the powerful woman ruler of Kashmir from 958 to 1003 AD.? /958 ¥ 1003 ST dh HTHR B XfwTmelt Afgen I S At
1. Kauravaki / aﬁﬁaﬁ

2. Prabhawati / GHTaH

3. Didda / fe&=]T

4, Rudrama / ®&HI

Correct Answer :-

. Didda/ g

15) Who coined the word ecology (Okologie)? / arivfRyfast (Gﬁ?ﬁ?ﬁﬁﬁ) e 1 STfawpR fohaA fpar?
1. Robert Whittaker / Je¢ f@ear

2. Ernst Haeckel / T gabd

3. Charles Darwin / 9T STfd=

4. Arthur Tansley / MR T

Correct Answer :-

« Ernst Haeckel / T=E gadbd

16) Who is the author of Ashtanga samgraha (Summary of the Eight Branches of Medicine) in Gupta period? / U Tel o 3T IS

(Frfercar 1 ame Tt ST IR F dEd B 82

1. Vagbhata / dTHE

2. Bhratahari / 'l-l'f‘j—b'ﬁ



3. Charaka / TR

4. Susruta / JYd
Correct Answer :-

« Vagbhata / dTHE

17) Who was given the title of ‘Lakh Baksha’ (donator of hundreds of thousands) in early medieval times? / URTR® AT H &g T8I

@B goIRI BT gram Bt STl o Y 15 o
1. Balban / §cfd+

2. Razia / XTorT

3. Qutub-uddin Aibak / $IIE A JaD

4. Firoz Tughlaq / e UNCS

Correct Answer :-

« Qutub-uddin Aibak / FIFEH UaPH

18) Between whom was the Battle of Dharmat fought? / efd &1 & e S BT UT?
1. Aurangzeb and Dara Shikoh / aﬁwﬁa GﬁT aRT m

2. Babur and Ibrahim Lodhi / dTeR Gh? SET%I[ I

3. Akbar and Jahangir / &R 3R TehiR

4. Akbar and Rajputs / HPHER 3R W'q\?ﬁ

Correct Answer :-

« Aurangzeb and Dara Shikoh / KRk GﬁTHRT ADIg

19) MOOCs stands for: / TH.3i1. 373 &1 aread 3:

1. Massive Open Online Courses / Afrg o= Gf\fqa'lg:f ﬁ%

2. Massive Open Orientation Courses / A9 3 m aﬂﬁ\—ﬂ
3. Massive Online Open Courses / A Hﬁ?ﬂs:[ 3o ﬁﬁvr

4. Mobile Open Online Courses / HISTSA U AT B IRIw

Correct Answer :-

« Massive Open Online Courses /ﬁﬁa 3MNgA &ﬁqamaﬂﬁa

20) _  amendment added a list of Fundamental Duties to the Constitution. / ______ TRieE T o M el B Udh ﬂﬁ Gﬁ?;?ﬂ %I
1. 427 / 429
2.39% / 30a
3.47™ / 47ai
4. 44 / 4491

Correct Answer :-

o 420/ 4077

21) Erosion by solution is termed as: / Faa gRT 3R &) wgT \_rI'I?IT%:
1. Evorsion / SeierTd

2. Cavitation / Iie®I

3. Abrasion / 3{TEU

4. Corrosion / H&RUT

Correct Answer :-



« Abrasion / 3{geur

22) Ramsar sites are the areas which are to be protected for wetlands. Which one is the first Ramsar site in India? / ITHER [ 3 ?HEI %ﬁ%
STy & forg TRfgra fobar ST 81 URa o UgaT TPRR WA S AT 82

1. Loktak Lake /W%ﬁﬁ
2. Chilka Lake / eIt &t

3. Vembanad Kol / 31818 HIA
4, Kolleru Lake / 1% i

Correct Answer :-

« Chilka Lake / o1 i@

23) The curriculum principle that allows necessary changes in its content and methods as per the changing needs and situations is ./ QﬂT

ToTHH Rl €, S aqad! sraxadarst ok wRfRifra) ¥ gar ol fvg-awg ok usfudl § sravae uRadq T 21
1. Principle of integration / THIH0 BT Rigid

2. Principle of flexibility / THa T Rigid

3. Principle of motivation / SR &7 Rrgia

4. Forward looking principle / Srefidr o1 Rigid

Correct Answer :-

« Principle of flexibility / eI &1 Rigid

24) The teacher’s mental and emotional visualization of classroom activities is: / PET Tlﬁl'qaﬁﬂﬁ & ﬁT&‘ﬁ? B HFRIS \?vﬁT HIGATHD DUl
2

1. Year plan / ELIBRISE

2. Lesson plan / UT& T

3. Unit plan / sa?rs‘ o

4. Resource plan / SHTYH oM

Correct Answer :-

o Lesson plan /Ul T

25) The committee headed by Prof. C.H. Hanumantha Rao (1984) went into the question of evolving methodology for planning. / .

g9, 9T U9 & e arelt AMAfA (1084) H e & g usfa fawRia s &1 ger i m
1. District Level / Toram T

2. Village Level / I8 W

3. State Level / 9 W

4. Block Level / Sileb &I

Correct Answer :-

« District Level /ﬁﬁ'ﬂ TR

26) Which Act drastically redrew the boundaries of states and territories in India, organizing them along linguistic lines. / g arfufeam 3

YR ¥ T4l 3R &5 Bt Farait &) FTo gg a% BH B faar 3R I | Y@nei & A1y sqafeid fean
1. States Reorganization Act, 1956 / Isd YTa+ Sififad, 1956
2. States Reordering Act, 1959 / 5T G: 3O AT, 1959
3. States Reordering Act, 1963 / ST GA: 30N T, 1963

4, States Redrawing Act, 1957 / I8 g% 3ifaf¥ad, 1957

Correct Answer :-

« States Reorganization Act, 1956 / Isd Tia+ HfIFTH, 1956



27) Which among the following is not a criterion for writing Instructional Objective? / fFafefea & 9w fAdzmae G%W [CEET 1%111 aﬁé
TGS 781 872

1. Specification of the learner / Rreneff =1 fafarfyar

2. The nature of the school environment / feITed & 'FI@T“I A m

3. The learner performance / Rremdf 1 vee=

4. Adequacy of instructional objectives / RERIGER dﬂ-‘quﬁ e jiverei]

Correct Answer :-

« The nature of the school environment / faEITe™d & Iﬂaﬁ Ea W

28) Which among the following models of teaching belongs to Social Interaction Family? / fafafaada Rreor &1 P A1 Ui ArHToTe
3ia: fomar uftaR & wafta 82

1. Inquiry Training Model / & dT& PIRI GRS

2. Non-directive Teaching Model / SR Rreor ufawm
3. Advance Organizer Model / 3 ST ufawE

4. Partnership Learning Model / ITT ST UfaH=

Correct Answer :-

« Partnership Learning Model / ITT SR g™

29) Which battle was fought between Ahmad Shah Abdali and the Marathas in 1761? / 1761 - 3[gHq XTe Wﬁﬂ Sﬁ? RIS & d9 ﬁ:l-m
Y& 3T YUT?

1. Battle of Tarrain / dRT1gT DT &

2. Battle of Khanwa / WTd] T &

3. Battle of Buxur / SRR I J&

4. Third Battle of Panipat / Tt &1 ﬂ?ﬁ'q g%

Correct Answer :-
« Third Battle of Panipat / GT-Ud &1 ?Fﬁq &

30) Which Jaina Saint is credited with introducing Jainism in South India? / a'fEWT HRd o 9y &t R 3Td HH b1 99 frg 9= Ja Bl
ST 82

1. None of the above /mﬁﬁaﬂgﬁ
2. Sthulabhadra / ®[ATHE

3. Indrabhuti / Eﬁ"fﬁ

4. Bhadrabahu / H&dTg

Correct Answer :-

« Bhadrabahu / HxSTg

31) Where was the First Jain Council held by Sthulabahu? / R[AETg gRT WYH W uf¥ug wel gars s A2
1. Kasi / BRft

2. Vaishali / aQ d

3. Vallabhi / geaH}
4. Pataliputra / UI?W

Correct Answer :-

« Pataliputra / qﬁ?ﬁ?ﬂ

32) How can a social science teacher infuse affective outcomes among students? / IS ﬁﬁlﬂ ﬂT&ﬁ? BHE § GHRIHAS GROTH HY G
TUTRAd % FHaT 82



1. Keeping the students intact through lecture method / SRS Ugfd & H1egd 9 8 D1 ffdehd 39 dx

2. Adopting collaborative learning inside and outside the class room / P&l F 3R 3R EIRES W ST & OISR

3. Through story telling method on freedom fighters of social eminence / TS Q@T‘ﬂ el TqadT YT R ST aTeH Ui & H1eqd 9
4. Through the teaching of wars and conflicts through ages / Tﬂ I H@ 3R Tt & fRre0r & A1 §

Correct Answer :-

- Adopting collaborative learning inside and outside the class room / F&/T P X 3R STER AMHED SHTH BT SUATHR

33) Which Article of the Constitution states that all authorities, civil and judicial, in the territory of India shall act in aid of the Supreme Court? / ﬂﬁ'iﬂq ﬂ?

5 srgwe o Fe1 AT ? % URa & T ® @it wiftresvor, Aanie ok <aiRie, dt= =amaray #t agrar § w1 s
1. 141
2. 134
3. 144

4. 114

Correct Answer :-

. 144

34) Which was the political party formed under the leadership of Kanshi Ram? | BIRIRTA & ﬁ?[ﬁ T B9 W Terifae urdt nfsa _g'g Difd
1. Communist Party of India / Hﬂ?ﬁqmﬁﬁ aref

2. Samajwadi Party / THISIATG] arf

3. Rashtriya Janata Dal / QT@T{ GG

4. Bahujan Samaj Party / §goT9 QAT UTcf

Correct Answer :-

» Bahujan Samaj Party / Sgol JHS arf

35) NABARD stands for ./ ATETS BT Yol =4 gl

1. National Bank for Agriculture and Rural Development /TI@U w 3R 7o f3pT S

2. National Bank for Agriculture Reconstruction Development / ?T@'q ?ﬁ Fﬂﬁ'ﬂh o do

3. National Board of Agronomy and Rural Development / Tl'@'q JEieyH iR I faera Sie
4. National Board of Agriculture and Rural Development / 21@?1 ?{31:@ TG UTHIT T EI]

Correct Answer :-

« National Bank for Agriculture and Rural Development /QT@H P 3R T oy S

36) stated that ‘social sciences carry a responsibility of creating a strong sense of human values, namely, freedom, trust, mutual respect, and
generating in students a critical, moral and mental energy, making them alert to the social forces that threaten these values’. / o [T STt % &

e T W e, srufe wadsrr, fayr, el T B weigd UiaT der $3A 3R T ) Ue Weaqul, e IR ARie Set dar
FY B Rrfer Frurar 8, i S 59 4ol ) @y § STam arelt arires feral & e gadb searg 1

1. National Curriculum Framework NCF (2003) / JTS1T UToa=id] 1 TR THRATH (2005)
2. Commission on School Education /W@T&ﬂ ST
3. Education Commission 1964-66 / TRI&T 3TN 1964-66

4. The Curriculum for Ten Year School / & HIdl & Hd > 1%‘1@ qraAdshH

Correct Answer :-

« National Curriculum Framework NCF (2005) / JTS10 UTGa<rd] 1 FUREN TIHTWH (2005)

37) is a type of unemployment wherein the workers are searching for new jobs and for a temporary period they will be unemployed. /

TP YR $I RIS 3 R FHart 75 el 31 qomr 73 37 § 9% ve Sreurdt 3afy & g 3 Rsmm w87
1. Frictional unemployment / ST SRISATIRY
2. Seasonal unemployment / RS SRR

3. Structural unemployment / ERTATHD RIS



4. Disguised unemployment / U=9d SRR

Correct Answer :-

e Frictional unemployment / SRS SRISTR

38) is a process that involves the assembling, storage, transportation, packaging and dlstrlbutlon of different agricultural commodities across the

country./ U@ Uihar e FoRrd a=1 R A fafd ofYy avgaif & wdiem, werur, ufvagH, 35RRT 3k faawor mfra g €1
1. Agricultural marketing / q?fﬁ faqom

2. Rural development / T faer

3. Agricultural networking / ?fﬁ JeafdT

4. Rural marketing / orftor fauuE

Correct Answer :-

o Agricultural marketing / @‘fﬁ fouom

39) Who is the present Chief Economic Advisor to the Ministry of Finance Government of India? / HRd RPN %ﬁam%rﬁhma’@ 3t
TATEBR P4 82

1. Raghuram Rajan / YYRTH TSl

2. Kaushik Basu / aﬁﬁmaﬁ

3. Krishnamurthy Subramanian / Wﬁiﬁw
4. Arvind Subramanian / Gﬂﬁ—c{w

Correct Answer :-

o Krishnamurthy Subramanian /WW

40) Who is the present Governor of Reserve Bank of India? / "mmaﬂ? %aﬁ'ﬂﬁ mﬁvaﬁq %-?
1. Urjit Patel /Bﬁh ued

2. Duvvuri Subbarao / @—\ﬁ BSSINES

3. Raghuram Rajan / XYRTH S

4. Shaktikanta Das / mm

Correct Answer :-

« Shaktikanta Das / Qifadepid g

41) Who first adopted Micro teaching techniques? / J&H Rrgror aw-iie! Bt wdvwyw e sroeman?
1. Dwight. W. Allen / aTS¢ $6e9, TaH

2. Dwight Waldo / GdT3e aTea!

3. Michael Brown / HISH A T3

4. Stanley John / -Tell S

Correct Answer :-

+ Dwight. W. Allen / §dTs¢ S&¢g, Tel

42) Who is nicknamed as the ‘Milkman of India’? / "HIRd %W gy’ Bl Wmﬁlﬂ ™l %‘.’
1. Swaminathan / ST

2. Sambasivan / TESTRITH

3. Verghese Kurien / aﬂﬁ@ﬁm

4. Hiralal Chaudhari / ERTETS TeR

Correct Answer :-

¢ Verghese Kurien / mﬁa@ﬁm

43) The concept of five year plans in India was adopted from which country? / YR ¥ vaadly deHmei it sruron e 3w 9 m'lg'"l% RiF



1. China /94

2. England / 3”%3

3. Soviet Union /@Iﬁuﬁ g4
4. USA / et X1 SATRaT
Correct Answer :-

« Soviet Union /@Iﬁ'ﬂ’d g4

44) AMUL stands for ./ 3 (TUHYTEH) &1 quf &4 gl
1. Anand Milk Undertaking Limited / 3G fiiesh sfgxefd farfies

2. Ahmedabad Milk Union Limited / SGHITG e g fffics
3. Ahmedabad Milk Undertaking Limited / 3EHGTSTG fiew 3fgvefd faftes
4. Anand Milk Union Limited / 3Tig fie® gfed fafics

Correct Answer :-

« Anand Milk Union Limited / 3¢ fie® gfed fafics

45) is an apex Indian governmental body created in 1964 to address governmental corruption. / TS o YR RS
e g Sl TP YPRIR &1 udl aA & i 1964 & ST M|

1. Commission Against Corruption / YSTAR & Raars ST
2. Central Bureau of Investigation / HERT 3N @

3. Anti-Corruption Bureau / YFTAR foRyeft @

4. Central Vigilance Commission /W T ST

Correct Answer :-

« Central Vigilance Commission /ﬁq o START

46) is the highest court for criminal cases in a district. / T ford # STRIRIG WHal & R 99 3= <AraTea gl
1. Court of the Sessions Judge / I3 Irnefier &1 ATy

2. Court of the District Judge /ﬁl?ﬂ rnefier 1 ATy

3. Courts of Magistrates of First Class / UYH I & Ilﬁl@:c' DT YrAaTedd

4. Courts of Magistrates of Second Class /1@?11?1 I & Ilﬁ@‘c’ CaRIRINR)

Correct Answer :-

« Court of the Sessions Judge / I3 Iranefier &1 ATy

47) Which of the following intrinsically motivates a learner to learn? / fFEfRIfEd & ¥ 17 AR & 1T v R F1 oo =u A IRa Fa1 82
1. Lots of homework / 3 W

2. Rewards / Eh_u‘:ﬂﬁ:{

3. Easy questions / 9X¢1 {4l
4. Interest in the topic / Tao T Bf

Correct Answer :-

« Interest in the topic / fawa & 3

48) Whose birthday is celebrated as ‘International Day of Non-Violence’ by the United Nations (UN)? / Idgad MY (RA) &RT frad safea =t
SeRTgia arfgan feaw & v § e wiwan 82

1. Martin Luther King /¥ & R B
2. Mahatma Gandhi / HTHT e

3. Jawaharlal Nehru / STATgR T ﬁ%?a
4. Nelson Mandela / 9T HaaT



Correct Answer :-

« Mahatma Gandhi / HgTeHT el

49) Annie Besant was a member of WA ik @) ggw
1. Ghadar Party / &R uref

2. Prarthana Samaj /QTQT?TW

3. Arya Samaj / 3 TS

4. Theosophical Society / REEfthea TaTEd

Correct Answer :-

« Theosophical Society / Faafthera Trmget

50) Who plays the main role of Guidance Services in School? / faEag ¥ urfexfa Aarsit Ft gEr YfireT HF v 22
1. Parent/ HTAT-fUa

2. Social Studies Teacher / TATNIEG 3T e

3. Principal / eI

4. Counselor / TRTARIGTAT

Correct Answer :-

« Counselor / TRTHRIEIAT

51) CANCELLED

What is the SDG (Sustainable Development Goal) rank of India in 2018? / 2018 # HRd @I THSISI (Wdd faerg wey) ¥ w1 E) 22
1. 130

2.124

3.112

4. 148

Correct Answer :-
o 112

52) CANCELLED

Which of the following country is in the third stage of Demographic transition model? / faff@a e ar AT FAHIFRSTHT YHHT Aisd F RN TR &
1

1. Kenya /=T

2. Bangladesh / ST

3. Peru/UF

4. Canada / &-TST

Correct Answer :-

o Canada / -TST

53) CANCELLED

Who coined the term Action Research? / TaRI EGE] (ﬁ)‘maw Qﬁﬂ) Qe &Y AT foraa B
1. Stephen M. Corey / I T, HRY
2. Bruce Cooper / {8 dUR

3. Talcott Parsons / %T’ﬁﬁg IR

4. Kets de Vries / M K|

Correct Answer :-

« Stephen M. Corey / T+ TH. BRI



54) CANCELLED

The approach of organizing curriculum which is more content centered is known as: / UTGIHH B AU B BT TRBIT, o SfIwiwra:
Ryg-ag $a e, @ HET ST &

1. Concentric approach / Hohfed %'I@H’ﬁ'UT
2. Topical approach / e efPHIu

3. Unit approach / sao‘rs‘ GRCAW

4. Spiral approach / ftfa Gica

Correct Answer :-

« Unit approach / THIS DB

55) “Roaring forties” are name given to wind in southern hemisphere commonly known as which of the following wind. / i ifery (T

wiféw) gféroft mard & gam archt va= & faan war = § < PR 7 S fra ga & T Qo owdh 82
1. Westerlies / g Ua=

2. Trade Wind / TR UaH (¢S )

3. Easterlies / §dfg ua=

4. Monsoon Wind / A Y&

Correct Answer :-

o Westerlies / U3 Y

56) Sir Thomas Stamford Raffles is known to be a founder of which of the following modern nations? / X YT RHGIS Yhed &1 fFafafaa
# 3 v amyfies g &1 HRITTP 711 ST B2

1. New Zealand / ?Fﬂa?{
2. Cyprus / 9IgUY
3. Vatican City / afewa R

4. Singapore / ﬁF'ITQT
Correct Answer :-

« Singapore / W

57) Cyclones or hurricanes do not develop within about 50 N and S of the equator because? / TshdTd T TPI, ww?&n%amm 50N 3T s
& iR faefa =8 gid & wifes?

1. Ocean surface temperature is high / 9% LAl gdg hI dgHA 3w @?IT %I
2. Trade winds converge / RS Ua TUdh 3R a_cﬁ %I

3. Pressure gradient is weak / GId UdUIT HHGR Eﬂ?ﬁ % |

4. Coriolis force is very weak / BN UHTT ggd HIGR Eﬂ’tﬂ %I

Correct Answer :-

« Coriolis force is very weak / BN UHTd ggd HIGR a?ﬂ %I

58) Which of the following rivers does not flow into the Arabian Sea? / ﬁmﬁﬂ@a T P qﬁ 3RY R | T'Iﬁag?ﬁ %?
1. Tungabhadra / EFT'J-ET

2. Narmada / :IﬁET

3. Mandovi /'J:I'l'UTE':?ﬁ

4. Sabarmati / ISR

Correct Answer :-

« Tungabhadra / @"‘T"-@



59) The Vallarpadam Terminal, which is a container trans-shipment facility, launched in February 2011. It is a part of which among the
following ports? / BRa<I 2011 H JURTY fHaT1 T aeTRUeH fifFd, St ek aiarur (¢ia-Riade) gfawr 81 g8 Fufaf@a ida d d
e o fewr 32

1. Cochin Port / B ERUIE

2. Visakhapatnam Port / %Q]T@TEE:IT[ ELSUIN
3. None of above /Wﬁ@ﬁgqﬁ

4. Chennai Port / aﬂ'ﬁ EEEUIR

Correct Answer :-

« Cochin Port/ﬁ?ﬂ:f CEAUI

60) Dendrochronology is the scientific method of dating based on the analysis of patterns of tree-rings. In a tree from which of the following
zones, the analyzing the circles would be most easy? / 9&f-d¢1d (a fns T & faxaur & snuR W q&mﬁ?&ﬁﬁ sfEr®r
Tt 31 FFufefaa & 3 e 8 & ua gar 8, aordl &1 fa=avor $-1 9 S ghm?

1. Temperate Zones / i wiesy (%W \_,rh:T)
2. Taiga /%TIT

3. Tropical Rain Forests /W‘Eﬁq ayi g9
4. Polar Tundra / %Fﬁq el

Correct Answer :-

« Temperate Zones / i siesy (%Tlﬁ_c' \_,rh:T)



